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TNPSC GROUP I MAIN – 2023 

RATIO AND PROPORTION & TIME AND WORK TEST 

 
gphpT – m 

SECTION – A 
 
Fwpg;G:  

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

1. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. Eighty machines can produce 4,800 identical mobiles in 6 hours. How many mobiles 

can one machine produce in one hour? How many mobiles would 25 machines 
produce in 5 hours?                (5 m) 
80 jhdpaq;fp ,ae;jpuq;fs; xNu khjphpahd 4800 ifg;Ngrpfis 6 kzpapy; cw;gj;jp 
nra;fpd;wd.  xU jhdpaq;fp ,ae;jpuk;> xU kzp Neuj;jpy; vj;jid ifg;Ngrpfis 
cw;gj;jp nra;Ak;?  25 jhdpaq;fp ,ae;jpuq;fs; 5 kzp Neuj;jpy; vj;jid 
ifg;Ngrpfis cw;gj;jp nra;Ak;? 

 
B. Vanathi  can finish typing a 100 page document in 9 hours, kayalvizhi in 6 hours and 

Manimozhi  in 12 hours. How long will they take to type a 100 page document if they 
work together?                 (5 m) 
100 gf;f Mtzj;ij thdjp 9 kzp Neuj;jpYk;> fay;tpop 6 kzp Neuj;jpYk;> 
kzpnkhop 12 kzp Neuj;jpYk; jl;lr;R nra;J Kbf;f KbAk;. mtu;fs; xd;whf Ntiy 
nra;jhy; 100 gf;f Mtzj;ij jl;lr;R nra;a vt;tsT Neuk; MFk;? 

 
2. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. A, B and C working together can do a piece of work in 8 hours. A alone can do it in 20 
hours and B alone can do it in 24 hours. In how many hours will C alone do the same 
work?                 (5 m) 
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A, B kw;Wk; C ,ize;J xU Ntiyia 8 kzp Neuj;jpy; nra;Jtpl KbAk;. A 
jdpahf 20 kzp Neuj;jpYk;> B kl;Lk; 24 kzp Neuj;jpYk; nra;a KbAk;. mNj 
Ntiyia C kl;Lk; vj;jid kzp Neuj;jpy; nra;thu;? 

 
B. A is thrice as fast as B. If B can do a piece of work in 24 days, then find the number of 

days they will take to complete the work together.               (5m) 

A Mdtu; B I tpl %d;W klq;F Ntfkhdtu;. B xU Ntiyia 24 ehl;fspy; nra;a 
Kbe;jhy;> mtu;fs; Nru;e;J Ntiyia Kbf;f vLf;Fk; ehl;fspd; vz;zpf;ifiaf; 
fz;lwpaTk;. 

 
3. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. The ages of two persons are in the ratio 5: 7. Eighteen years ago their ages were in the 
ratio 8: 13. Find their present ages.             (5 m) 
,uz;L egu;fspd; taJ 5 : 7 vd;w tpfpjj;jpy; cs;sJ. gjpndl;L Mz;LfSf;F Kd;G 
mtu;fspd; taJ 8 : 13 vd;w tpfpjj;jpy; ,Ue;jJ. mtu;fspd; jw;Nghija taijf; 
fz;lwpaTk;. 

 
B. The ratio of zinc and copper in an alloy is 7 : 9. It the weight of the copper in the alloy is 

11.7 kg, find the weight of the zinc in the alloy.             (5m) 
xU fyitapy; Jj;jehfk; kw;Wk; jhkpuj;jpd; tpfpjk; 7 : 9. fyitapy; cs;s 
jhkpuj;jpd; vil 11.7 fpNyh vdpy;> fyitapy; cs;s Jj;jehfj;jpd; viliaf; 
fz;lwpaTk;. 

 
4. Answer the following Questions.  

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. A flood relief camp has food stock by which 80 people can be benefitted for 60 days. 

After 10 days 20 more people have joined the camp. Calculate the number of days of 
food shortage due to the addition of 20 more people.          (5 m) 
nts;s epthuz Kfhkpy; 80 NgUf;F  60 ehl;fSf;Fg; gad;ngWk; czTg; nghUs;fs; 
cs;sd. 10 ehl;fSf;F gpwF NkYk; 20 Ngu; Kfhkpy; Nru;e;Js;sdu;. NkYk; 20 Ngu; 
Nru;f;fg;gLtjhy; czTg; gw;whf;Fiw Vw;gLk; ehl;fisf; fhz;f. 

 
B. If A:B = 3:4, B:C= 5:7 and C:D= 8:9 find A : B : C : D           (5 m) 

A:B = 3:4> B:C= 5:7 kw;Wk; C:D= 8:9 vdpy;  A : B : C : D fhz;f. 
 

5. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

 

A. If 5 men or 7 women can earn ₹525 per day, how much 10 men and 13 women together 
would earn per day.                           (5 m) 

5 Mz;fs; my;yJ 7 ngz;fs; xU ehisf;F ₹ 525 rk;ghjpf;f KbAk; vd;why;> 10 
Mz;fSk; 13 ngz;fSk; ,ize;J xU ehisf;F vt;tsT rk;ghjpg;ghu;fs;. 

 
B. Malar has to drive from village A to village B. She measures a distance of 3.5 cm 

between these villages on the map. What is the actual distance between the villages if 
the map scale is 1 cm = 20 km?               (5 m) 
A fpuhkj;jpypUe;J B fpuhkj;jpw;F kyu; gazpf;f Ntz;Lk;. tiuglj;jpy; ,e;j 
fpuhkq;fSf;F ,ilNa 3.5 nr.kP J}uj;ij mts; mse;jhs;. tiugl msTNfhy; 1 
nrkP = 20 fpkP vd;why; fpuhkq;fSf;F ,ilNa cs;s cz;ikahd J}uk; vd;d? 
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gphpT – M 
SECTION – B 

 
Fwpg;G : 

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;. 
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 
Each question carries fifteen marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;. 
Answer any four questions out of five questions. 

 
(4 × 15 = 60) 

6. Answer the following Questions. 
gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. P and Q can do a piece of work in 20 days and 30 days respectively. They started the 
work together and Q left after some days of work and P finished the remaining work 
in 5 days. After how many days from the start did Q leave?                 (7.5 m) 
P kw;Wk; Q xU Ntiyia KiwNa 20 ehl;fs; kw;Wk; 30 ehl;fspy; nra;a KbAk;. 
mtu;fs; xd;whf Ntiyiaj; njhlq;fpdu;> rpy ehl;fSf;F gpwF Q ntspNawpdhu;> 
kPjKs;s Ntiyia 5 ehl;fspy; P Kbj;jhu;. Muk;gj;jpypUe;J vj;jid ehl;fSf;Fg; 
gpwF Q ntspNawpdhu;? 

 
B. A can do a piece of work in 12 hours, B and C can do it 3 hours whereas A and C can 

do it in 6 hours. How long will B alone take to do the same work?     (7.5 m) 

A xU Ntiyia 12 kzp Neuj;jpy; nra;a KbAk;> B kw;Wk; C 3 kzpNeuj;jpy; 
nra;a KbAk;> mNj rkak; A kw;Wk; C 6 kzpNeuj;jpy; nra;a KbAk;. mNj 
Ntiyia B kl;Lk; nra;a vt;tsT Neuk; MFk;? 

 
7. Answer the following Questions. 

gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. X can finish 80% of a work in 12 days and Y can finish 20% of the same work in 2 days. 

They started the work together, but Y left after 2 days and X continued to work. In how 
many days was the entire work completed?                                (7.5 m) 
X xU Ntiyapd;  80% 12 ehl;fspy; Kbf;f KbAk; kw;Wk; Y mNj Ntiyia 2 
ehl;fspy; 20% Kbf;f KbAk;. mtu;fs; xd;whf Ntiyiaj; njhlq;fpdhu;fs;> Mdhy; 
Y> 2 ehl;fSf;Fg; gpwF ntspNawpdhu;. X njhlu;e;J Ntiy nra;jhu; vdpy;> KO 
NtiyAk; vj;jid ehl;fspy; KbAk;? 

 
B. A tank can be filled by two inlet pipes P and Q in 15 minutes and 20 minutes 

respectively. Another outlet pipe R can empty the full tank in 24 minutes. If outlet pipe 
R is opened 6 minutes after pipes P and Q are opened, find the total time to fill the 
tank.                                   (7.5 m) 

xU njhl;bia KiwNa 15 epkplq;fs; kw;Wk; 20 epkplq;fspy; P kw;Wk; Q Mfpa 
,uz;L  Foha;fs; %yk; epug;g KbAk;. kw;nwhU Foha;  R 24 epkplq;fspy; KO 
njhl;biaAk; fhyp nra;JtpLk;. P kw;Wk; Q Foha;fs; jpwf;fg;gl;l 6 epkplq;fSf;Fg; 
gpwF R  Foha; jpwf;fg;gl;lhy;> njhl;bia epug;Gtjw;fhd nkhj;j Neuj;ijf; fhz;f. 
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8. Answer the following Questions. 
gpd;tUk; tpdhf;fSf;F tpilasp. 
 
A. Incomes of A, B and C are in the ratio 7:9:12 and their expenditures are in the ratio 

8:9:15. If A's Saving is 
1

4
 of his income, then the ratio of savings of A, B and C is 

what?A> B kw;Wk; C ,d; tUkhdk; 7:9:12 vd;w tpfpjj;jpYk;> mtu;fspd;  nryTfs; 

8:9:15 vd;w tpfpjj;jpYk; cs;sd. A-d; Nrkpg;G mtuJ tUkhdj;jpy; 
1

4
klq;F vdpy;> 

A> B kw;Wk; C MfpNahupd; Nrkpg;G tpfpjk; vd;d?                    (8 m) 
 
 

B. A pot contains 81 litres of pure milk, 
1

3
of the milk is replaced by the same amount of 

water.  Again 
1

3
 of the mixture is replaced by that amount of water.  Find the ratio of 

milk and water in the new mixture.                (7m) 

xU ghidapy;  81 ypl;lu; J}a ghy; cs;sJ> 
1

3  
klq;F ghy; mNj msT jz;zPuhy; 

khw;wg;gLfpwJ. kPz;Lk; 
1

3
 klq;F fyitahdJ me;j msT jz;zPuhy; khw;wg;gLfpwJ. 

Gjpa fyitapy; ghy; kw;Wk; jz;zPupd; tpfpjj;ijf; fhz;f. 
  

9. Answer the following Questions. 
gpd;tUk; tpdhf;fSf;F tpilasp. 

 

A. A school has 630 students. The ratio of the number of boys to the number of girls is 3: 2. 
This ratio changes to 7: 5 after the admission of 90 new students. Find the number of 
newly admitted boys.                              (7.5 m) 
xU gs;spapy; 630 khztu;fs; cs;sdu;.  rpWtu;fs;  vz;zpf;if kw;Wk; rpWkpfspd; 
vz;zpf;if tpfpjk; 3: 2. ,e;j tpfpjk; 90 Gjpa khztu;fspd; Nru;f;iff;Fg; gpwF 7: 5 
Mf khWfpwJ. Gjpjhf mDkjpf;fg;gl;l rpWtu;fspd; vz;zpf;ifiaf; fz;lwpaTk;. 

 

B. A bag contains ₹ 187 in the form of 1 rupee, 50 paise and 10 paise coins in the ratio 3:4:5. 
Find the number of each type of coins.                    (7.5 m) 

xU igapy; ₹ 187 MdJ 1 &gha;> 50 igrh kw;Wk; 10 igrh ehzaq;fshf 3:4:5 vd;w 
tpfpjj;jpy; cs;sd. xt;nthU tif ehzaq;fspd; vz;zpf;ifiaf; fhz;f. 

 
10. Answer the following Questions. 

gpd;tUk; tpdhf;fSf;F tpilasp. 
 

A. Three years hence a man’s age will be three times his son’s age and 7 years ago he was 
seven times as old as his son. How old are they now?                  (7.5 m) 
%d;W tUlq;fs; fopj;J xU kdpjupd;  taJ mtUila kfdpd; taij tpl %d;W 
klq;fhf ,Uf;Fk;> 7 tUlq;fSf;F Kd;G mtu;  jd; kfid tpl VO klq;F 
tajhdtuhf ,Ue;jhu; vdpy;  mtu;fspd; jw;Nghija taJ vd;d?    
        

B. A and B undertake to do a piece of work for Rs. 600. A alone can do it in 6 days while B 
alone can do it in 8 days. With the help of C, they finish it in 3 days. Find the share of 
each.                                              (7.5 m) 
A kw;Wk; B xU Ntiyia 600 &gha;f;F nra;a xg;Gf;nfhz;ldu;. A kl;Lk; jdpNa 6 
ehl;fspy; mt;Ntiyia nra;a KbAk;> B kl;Lk; 8 ehl;fspy; nra;a KbAk;. C 
cjtpAld; 3 ehl;fspy; Kbj;J tpLfpwhu;fs; vdpy;  xt;nthd;wpd; gq;ifAk; fhz;f. 


